

26-10-2024

Last Update

Bella Bay Beach Resort & Spa

Apartment No	Level	Туре	Size	view	Garden	Price Per M	price EGP	Price Euros		
	Pool Level Building A									
A-02	Ground	Studio	60	Pool &Sea view	20	90,000	5,400,000	108,000		
A-03	Ground	Studio	60	Pool &Sea view	20	90,000	5,400,000	108,000		
A-04	Ground	Studio	60	Pool &Sea view	20	90,500	5,430,000	108,600		
A-05	Ground	Studio	60	Pool &Sea view	20	90,500	5,430,000	108,600		
A-06	Ground	Studio	60	Pool &Sea view	20	91,000	5,460,000	109,200		
A-07	Ground	Studio	60	Pool &Sea view	20	91,000	5,460,000	109,200		
A-08	Ground	Studio	60	Pool &Sea view	20	91,500	5,490,000	109,800		
A-09	Ground	Studio	60	Pool &Sea view	20	91,500	5,490,000	109,800		
A-011	Ground	Studio	60	Pool &Sea view	20	92,000	5,520,000	110,400		
A-012	Ground	Studio	60	Pool &Sea view	20	92,000	5,520,000	110,400		
A-013	Ground	Studio	60	Pool &Sea view	20	92,500	5,550,000	111,000		
A-014	Ground	Studio	60	Pool &Sea view	20	92,500	5,550,000	111,000		
A-015	Ground	Studio	60	Pool &Sea view	20	93,000	5,580,000	111,600		
A-016	Ground	Studio	60	Pool &Sea view	20	93,000	5,580,000	111,600		
A-017	Ground	Studio	60	Pool &Sea view	20	93,500	5,610,000	112,200		
A-018	Ground	Studio	60	Pool &Sea view	20	93,500	5,610,000	112,200		
A-019	Ground	Studio	60	Pool &Sea view	20	94,000	5,640,000	112,800		
A-020	Ground	Studio	60	Pool &Sea view	20	94,000	5,640,000	112,800		
A-022	Ground	Studio	60	Pool &Sea view	20	95,000	5,700,000	114,000		
A-023	Ground	Studio	60	Pool &Sea view	20	95,500	5,730,000	114,600		
A-024	Ground	Studio	60	Pool &Sea view	20	96,000	5,760,000	115,200		
A-025	Ground	Studio	60	Pool &Sea view	20	96,500	5,790,000	115,800		
A-026	Ground	Studio	60	Pool &Sea view	20	sold	sold	sold		
A-027	Ground	Studio	60	Pool &Sea view	20	sold	sold	sold		
A-028	Ground	Studio	60	Pool &Sea view	20	98,000	5,880,000	117,600		
A-029	Ground	Studio	60	Pool &Sea view	20	98,500	5,910,000	118,200		
A-030	Ground	Studio	67	Pool &Sea view	20	120,000	8,040,000	160,800		
				Pool Level Buildi	ing B					
B-013	Ground	Studio	60	Garden	20	67,000	4,180,000	83,600		
B-014	Ground	Studio	60	Garden	20	67,000	4,180,000	83,600		
B-015	Ground	Studio	60	Garden	20	67,000	4,180,000	83,600		
B-016	Ground	Studio	60	Garden	20	67,000	4,180,000	83,600		
B-017	Ground	Studio	60	Garden	20	67,000	4,180,000	83,600		
B-018	Ground	Studio	60	Garden	20	67,000	4,180,000	83,600		
B-019	Ground	Studio	60	Garden	20	67,000	4,180,000	83,600		
B-020	Ground	Studio	60	Garden	20	67,000	4,180,000	83,600		
B-021	Ground	Studio	60	Garden	20	68,000	4,240,000	84,800		

B-022	Ground	Studio	60	Garden	20	68,000	4,240,000	84,800
B-023	Ground	Studio	60	Garden	20	69,000	4,305,000	86,100
B-024	Ground	Studio	60	Garden	20	69,000	4,305,000	86,100
B-025	Ground	Studio	60	Garden	20	70,000	4,365,000	87,300
B-026	Ground	Studio	60	Garden	20	70,000	4,365,000	87,300
B-027	Ground	Studio	60	Garden	20	71,000	4,430,000	88,600
B-028	Ground	Studio	60	Garden	20	sold	sold	sold
B-029	Ground	Studio	60	Sea View	20	120,000	7,200,000	144,000
			ng A					
A-102	First	Studio	60	Pool &Sea view		92,000	5,520,000	110,400
A-108	First	Studio	60	Pool &Sea view		92,500	5,550,000	111,000
A-109	First	Studio	60	Pool &Sea view		92,500	5,550,000	111,000
A-110	First	Studio	70	Pool &Sea view		90,000	6,300,000	126,000
A-111	First	Studio	60	Pool &Sea view		93,000	5,580,000	111,600
A-115	First	Studio	60	Pool &Sea view		93,500	5,610,000	112,200
A-116	First	Studio	60	Pool &Sea view		93,500	5,610,000	112,200
A-117	First	Studio	60	Pool &Sea view		93,500	5,610,000	112,200
A-118	First	Studio	60	Pool &Sea view		94,000	5,640,000	112,800
A-119	First	Studio	60	Pool &Sea view		94,000	5,640,000	112,800
A-120	First	Studio	60	Pool &Sea view		94,000	5,640,000	112,800
A-122	First	Studio	60	Pool &Sea view		94,500	5,670,000	113,400
A-123	First	Studio	60	Pool &Sea view		94,500	5,670,000	113,400
A-124	First	Studio	60	Pool &Sea view		95,000	5,700,000	114,000
A-125	First	Studio	60	Pool &Sea view		95,000	5,700,000	114,000
A-126	First	Studio	60	Pool &Sea view		95,500	5,730,000	114,600
A-127	First	Studio	60	Pool &Sea view		95,500	5,730,000	114,600
A-128	First	Studio	60	Pool &Sea view		96,000	5,760,000	115,200
A-129	First	Studio	60	Pool &Sea view		sold	sold	sold
A-130	First	Studio	67	Panorama sea view		120,000	8,040,000	160,800
				First Floor Buildi	ng B			
B-113	First	Studio	60	Garden&Oblique sea		80,000	4,800,000	96,000
B-114	First	Studio	60	Garden&Oblique sea		80,000	4,800,000	96,000
B-115	First	Studio	60	Garden&Oblique sea		81,000	4,860,000	97,200
B-116	First	Studio	60	Garden&Oblique sea		81,000	4,860,000	97,200
B-117	First	Studio	60	Garden&Oblique sea		82,000	4,920,000	98,400
B-118	First	Studio	60	Garden&Oblique sea		82,000	4,920,000	98,400
B-119	First	Studio	60	Garden&Oblique sea		83,000	4,980,000	99,600
B-120	First	Studio	60	Garden&Oblique sea		83,000	4,980,000	99,600
B-121	First	Studio	60	Garden&Oblique sea		84,000	5,040,000	100,800
B-122	First	Studio	60	Garden&Oblique sea		84,000	5,040,000	100,800
B-123	First	Studio	60	Garden&Oblique sea		85,000	5,100,000	102,000
B-124	First	Studio	60	Garden&Oblique sea		85,000	5,100,000	102,000
B-125	First	Studio	60	Garden&Oblique sea		86,000	5,160,000	103,200
B-126	First	Studio	60	Garden&Oblique sea		86,000	5,160,000	103,200
B-127	First	Studio	60	Garden&Oblique sea		87,000	5,220,000	104,400
B-128	First	Studio	60	Garden&Oblique sea		87,000	5,220,000	104,400

B-129	First	Studio	60	Panorama sea view	12	20,000	7,200,000	144,000	
			S	econd Floor Building		·		,	
A-202	Second	Studio	60	Pool &Sea view		3,000	5,580,000	111,600	
A-203	Second	Studio	60	Pool &Sea view		3,500	5,610,000	112,200	
A-204	Second	Studio	60	Pool &Sea view		3,500	5,610,000	112,200	
A-205	Second	Studio	60	Pool &Sea view	9	3,500	5,610,000	112,200	
A-209	Second	Studio	60	Pool &Sea view	9	4,000	5,640,000	112,800	
A-210	Second	Studio	70	Pool &Sea view	9	0,000	6,300,000	126,000	
A-211	Second	Studio	60	Pool &Sea view	9	4,500	5,670,000	113,400	
A-212	Second	Studio	60	Pool &Sea view	9	4,500	5,670,000	113,400	
A-213	Second	Studio	60	Pool &Sea view	9	5,000	5,700,000	114,000	
A-214	Second	Studio	60	Pool &Sea view	9	5,000	5,700,000	114,000	
A-216	Second	Studio	60	Pool &Sea view	9	5,000	5,700,000	114,000	
A-222	Second	Studio	60	Pool &Sea view	9	6,000	5,760,000	115,200	
A-223	Second	Studio	60	Pool &Sea view	9	6,000	5,760,000	115,200	
A-224	Second	Studio	60	Pool &Sea view	9	7,000	5,820,000	116,400	
A-225	Second	Studio	60	Pool &Sea view	9	7,000	5,820,000	116,400	
A-226	Second	Studio	60	Pool &Sea view	9	8,000	5,880,000	117,600	
A-227	Second	Studio	60	Pool &Sea view	9	8,000	5,880,000	117,600	
A-228	Second	Studio	60	Pool &Sea view	9	9,000	5,940,000	118,800	
A-229	Second	Studio	60	Pool &Sea view		sold	sold	sold	
A-230	Second	Studio	67	Panorama sea view	12	25,000	8,375,000	167,500	
	Second Floor Building B								
			9	ccond rioor banding	5 0				
B-207	Second	Studio	60	Sea View		4,000	5,040,000	100,800	
B-207 B-208	Second Second	Studio Studio		· · · · · · · · · · · · · · · · · · ·	8	4,000 sold	5,040,000 sold	100,800 sold	
			60	Sea View	8			-	
B-208	Second	Studio	60 60	Sea View Sea View	8	sold	sold	sold	
B-208 B-209	Second Second	Studio Studio	60 60 60	Sea View Sea View Sea View	8 8	sold 5,000	sold 5,100,000	sold 102,000	
B-208 B-209 B-210 B-211 B-212	Second Second Second	Studio Studio Studio	60 60 60	Sea View Sea View Sea View Sea View	8 8 8	sold 5,000 5,000	sold 5,100,000 5,100,000 5,590,000 5,160,000	sold 102,000 102,000	
B-208 B-209 B-210 B-211	Second Second Second	Studio Studio Studio Studio Studio Studio	60 60 60 60 65	Sea View Sea View Sea View Sea View Sea View Sea View	8 8 8 8	sold 5,000 5,000 6,000	sold 5,100,000 5,100,000 5,590,000	sold 102,000 102,000 111,800	
B-208 B-209 B-210 B-211 B-212 B-213 B-216	Second Second Second Second Second Second Second	Studio Studio Studio Studio Studio Studio Studio Studio Studio	60 60 60 65 60 60	Sea View	8 8 8 8 8 8	5,000 5,000 6,000 6,000 7,000	sold 5,100,000 5,100,000 5,590,000 5,160,000 5,220,000 5,220,000	sold 102,000 102,000 111,800 103,200 104,400 104,400	
B-208 B-209 B-210 B-211 B-212 B-213 B-216 B-217	Second Second Second Second Second Second Second Second Second	Studio	60 60 60 60 65 60 60 60	Sea View	8 8 8 8 8 8	5,000 5,000 6,000 6,000 7,000 7,000 8,000	sold 5,100,000 5,100,000 5,590,000 5,160,000 5,220,000 5,220,000 5,280,000	sold 102,000 102,000 111,800 103,200 104,400 105,600	
B-208 B-209 B-210 B-211 B-212 B-213 B-216 B-217 B-218	Second	Studio	60 60 60 65 60 60 60	Sea View	8 8 8 8 8 8 8	5,000 5,000 6,000 6,000 7,000 7,000 8,000	5,100,000 5,100,000 5,590,000 5,160,000 5,220,000 5,220,000 5,280,000 5,280,000	sold 102,000 102,000 111,800 103,200 104,400 105,600 105,600	
B-208 B-209 B-210 B-211 B-212 B-213 B-216 B-217 B-218 B-219	Second	Studio	60 60 60 65 60 60 60 60	Sea View	8 8 8 8 8 8 8 8	5,000 5,000 6,000 6,000 7,000 7,000 8,000 8,000 9,000	\$\text{sold} 5,100,000 5,100,000 5,590,000 5,160,000 5,220,000 5,220,000 5,280,000 5,280,000 5,340,000	sold 102,000 102,000 111,800 103,200 104,400 105,600 105,600 106,800	
B-208 B-209 B-210 B-211 B-212 B-213 B-216 B-217 B-218 B-219 B-220	Second	Studio	60 60 60 65 60 60 60 60	Sea View	8 8 8 8 8 8 8 8 8	5,000 5,000 6,000 6,000 7,000 7,000 8,000 8,000 9,000	\$\text{sold} 5,100,000 5,100,000 5,590,000 5,160,000 5,220,000 5,220,000 5,280,000 5,280,000 5,340,000 5,340,000	sold 102,000 102,000 111,800 103,200 104,400 105,600 105,600 106,800 106,800	
B-208 B-209 B-210 B-211 B-212 B-213 B-216 B-217 B-218 B-219 B-220 B-221	Second	Studio	60 60 60 65 60 60 60 60 60 65	Sea View	8 8 8 8 8 8 8 8 8 8	5,000 5,000 6,000 6,000 7,000 7,000 8,000 8,000 9,000 9,000	\$\text{sold} 5,100,000 5,100,000 5,590,000 5,160,000 5,220,000 5,220,000 5,280,000 5,280,000 5,340,000 5,340,000 5,850,000	sold 102,000 102,000 111,800 103,200 104,400 105,600 105,600 106,800 106,800 117,000	
B-208 B-209 B-210 B-211 B-212 B-213 B-216 B-217 B-218 B-219 B-220 B-221 B-222	Second	Studio	60 60 60 65 60 60 60 60 60 65 60	Sea View	8 8 8 8 8 8 8 8 8 9	5,000 5,000 6,000 6,000 7,000 7,000 8,000 9,000 9,000 0,000	\$0ld 5,100,000 5,100,000 5,590,000 5,160,000 5,220,000 5,220,000 5,280,000 5,280,000 5,340,000 5,340,000 5,850,000 5,400,000	sold 102,000 102,000 111,800 103,200 104,400 105,600 105,600 106,800 106,800 117,000 108,000	
B-208 B-209 B-210 B-211 B-212 B-213 B-216 B-217 B-218 B-219 B-220 B-221 B-222 B-223	Second	Studio	60 60 60 65 60 60 60 60 60 65 60	Sea View	8 8 8 8 8 8 8 8 8 9 9	5,000 5,000 6,000 6,000 7,000 7,000 8,000 8,000 9,000 9,000 0,000 1,000	\$\text{sold} 5,100,000 5,100,000 5,590,000 5,160,000 5,220,000 5,220,000 5,280,000 5,280,000 5,340,000 5,340,000 5,850,000 5,460,000 5,460,000	sold 102,000 102,000 111,800 103,200 104,400 105,600 105,600 106,800 106,800 117,000 108,000 109,200	
B-208 B-209 B-210 B-211 B-212 B-213 B-216 B-217 B-218 B-219 B-220 B-221 B-222 B-223 B-224	Second	Studio	60 60 60 65 60 60 60 60 65 60 60	Sea View	8 8 8 8 8 8 8 8 8 9 9	5,000 5,000 6,000 6,000 7,000 7,000 8,000 9,000 9,000 0,000 1,000	\$\text{sold} 5,100,000 5,100,000 5,590,000 5,160,000 5,220,000 5,220,000 5,280,000 5,280,000 5,340,000 5,340,000 5,400,000 5,460,000 5,460,000	sold 102,000 102,000 111,800 103,200 104,400 105,600 105,600 106,800 117,000 108,000 109,200 109,200	
B-208 B-209 B-210 B-211 B-212 B-213 B-216 B-217 B-218 B-219 B-220 B-221 B-222 B-223 B-224 B-225	Second	Studio	60 60 60 65 60 60 60 60 60 60 60 60	Sea View	8 8 8 8 8 8 8 8 8 9 9	5,000 5,000 6,000 6,000 7,000 7,000 8,000 9,000 9,000 0,000 1,000 1,000 2,000	\$\text{sold} 5,100,000 5,100,000 5,590,000 5,160,000 5,220,000 5,220,000 5,280,000 5,280,000 5,340,000 5,340,000 5,400,000 5,460,000 5,460,000 5,520,000	sold 102,000 102,000 111,800 103,200 104,400 105,600 105,600 106,800 106,800 117,000 108,000 109,200 110,400	
B-208 B-209 B-210 B-211 B-212 B-213 B-216 B-217 B-218 B-219 B-220 B-221 B-222 B-223 B-224 B-225 B-226	Second	Studio	60 60 60 65 60 60 60 60 65 60 60 60 60	Sea View	8 8 8 8 8 8 8 8 8 9 9 9 9	5,000 5,000 6,000 6,000 7,000 7,000 8,000 8,000 9,000 9,000 0,000 1,000 1,000 2,000	\$\text{sold} 5,100,000 5,100,000 5,590,000 5,160,000 5,220,000 5,220,000 5,280,000 5,280,000 5,340,000 5,340,000 5,460,000 5,460,000 5,520,000 5,520,000	sold 102,000 102,000 111,800 103,200 104,400 105,600 105,600 106,800 117,000 108,000 109,200 110,400 110,400	
B-208 B-209 B-210 B-211 B-212 B-213 B-216 B-217 B-218 B-219 B-220 B-221 B-222 B-223 B-224 B-225 B-226 B-227	Second	Studio	60 60 60 65 60 60 60 60 60 60 60 60 60 60	Sea View	8 8 8 8 8 8 8 8 8 9 9 9 9	5,000 5,000 6,000 6,000 7,000 7,000 8,000 9,000 9,000 0,000 1,000 1,000 2,000 2,000 3,000	\$\text{sold} 5,100,000 5,100,000 5,590,000 5,160,000 5,220,000 5,220,000 5,280,000 5,280,000 5,340,000 5,340,000 5,460,000 5,460,000 5,520,000 5,520,000 5,520,000 5,580,000	sold 102,000 102,000 111,800 103,200 104,400 105,600 105,600 106,800 117,000 108,000 109,200 109,200 110,400 111,600	
B-208 B-209 B-210 B-211 B-212 B-213 B-216 B-217 B-218 B-219 B-220 B-221 B-222 B-223 B-224 B-225 B-226 B-227 B-228	Second	Studio	60 60 60 65 60 60 60 60 60 60 60 60 60	Sea View	8 8 8 8 8 8 8 8 8 9 9 9 9	5,000 5,000 6,000 6,000 7,000 7,000 8,000 8,000 9,000 9,000 0,000 1,000 1,000 2,000 2,000 3,000	\$\text{sold} 5,100,000 5,100,000 5,590,000 5,160,000 5,220,000 5,220,000 5,280,000 5,280,000 5,340,000 5,340,000 5,460,000 5,460,000 5,520,000 5,520,000 5,580,000 5,580,000	sold 102,000 102,000 111,800 103,200 104,400 105,600 105,600 106,800 106,800 117,000 108,000 109,200 110,400 111,600 sold	
B-208 B-209 B-210 B-211 B-212 B-213 B-216 B-217 B-218 B-219 B-220 B-221 B-222 B-223 B-224 B-225 B-226 B-227	Second	Studio	60 60 60 65 60 60 60 60 60 60 60 60 60 60	Sea View	8 8 8 8 8 8 8 8 8 9 9 9 9 9	5,000 5,000 6,000 6,000 7,000 7,000 8,000 9,000 9,000 0,000 1,000 1,000 2,000 2,000 3,000	\$\text{sold} 5,100,000 5,100,000 5,590,000 5,160,000 5,220,000 5,220,000 5,280,000 5,280,000 5,340,000 5,340,000 5,460,000 5,460,000 5,520,000 5,520,000 5,520,000 5,580,000	sold 102,000 102,000 111,800 103,200 104,400 105,600 105,600 106,800 117,000 108,000 109,200 109,200 110,400 111,600	
B-208 B-209 B-210 B-211 B-212 B-213 B-216 B-217 B-218 B-219 B-220 B-221 B-222 B-223 B-224 B-225 B-226 B-227 B-228	Second	Studio	60 60 60 65 60 60 60 60 60 60 60 60 60 60	Sea View	8 8 8 8 8 8 8 8 8 8 9 9 9 9 9	5,000 5,000 6,000 6,000 7,000 7,000 8,000 8,000 9,000 9,000 0,000 1,000 1,000 2,000 2,000 3,000	\$\text{sold} 5,100,000 5,100,000 5,590,000 5,160,000 5,220,000 5,220,000 5,280,000 5,280,000 5,340,000 5,340,000 5,460,000 5,460,000 5,520,000 5,520,000 5,580,000 5,580,000	sold 102,000 102,000 111,800 103,200 104,400 105,600 105,600 106,800 106,800 117,000 108,000 109,200 110,400 110,400 111,600 sold	

A-303	Third	Studio	60	Sea View		95,000	5,700,000	114,000
A-304	Third	Studio	60	Sea View		96,000	5,760,000	115,200
A-305	Third	Studio	60	Sea View		96,000	5,760,000	115,200
A-306	Third	Studio	60	Sea View		97,000	5,820,000	116,400
A-307	Third	Studio	60	Sea View		97,000	5,820,000	116,400
A-308	Third	Studio	60	Sea View		98,000	5,880,000	117,600
A-309	Third	Studio	60	Sea View		98,000	5,880,000	117,600
A-310	Third	Studio	70	Sea View		92,000	6,440,000	128,800
A-311	Third	Studio	60	Sea View		98,500	5,910,000	118,200
A-312	Third	Studio	60	Sea View		98,000	5,880,000	117,600
A-313	Third	Studio	60	Sea View		99,000	5,940,000	118,800
A-314	Third	Studio	60	Sea View		99,000	5,940,000	118,800
A-315	Third	Studio	60	Sea View		100,000	6,000,000	120,000
A-316	Third	Studio	60	Sea View		100,000	6,000,000	120,000
A-317	Third	Studio	60	Sea View		101,000	6,060,000	121,200
A-318	Third	Studio	60	Sea View		101,000	6,060,000	121,200
A-319	Third	Studio	60	Sea View		101,000	6,060,000	121,200
A-320	Third	Studio	60	Sea View		130,000	7,800,000	156,000
			-	Third Floor Build	ing B			
B-301	Third	Studio	60	Sea View		85,000	5,100,000	102,000
B-302	Third	Studio	60	Sea View		85,000	5,100,000	102,000
B-303	Third	Studio	60	Sea View		86,000	5,160,000	103,200
B-304	Third	Studio	60	Sea View		86,000	5,160,000	103,200
B-311	Third	Studio	65	Sea View		87,000	5,655,000	113,100
B-312	Third	Studio	60	Sea View		87,000	5,220,000	104,400
B-313	Third	Studio	60	Sea View		88,000	5,280,000	105,600
B-314	Third	Studio	60	Sea View		88,000	5,280,000	105,600
B-315	Third	Studio	60	Sea View		89,000	5,340,000	106,800
B-316	Third	Studio	60	Sea View		89,000	5,340,000	106,800
B-317	Third	Studio	60	Sea View		90,000	5,400,000	108,000
B-318	Third	Studio	60	Sea View		90,000	5,400,000	108,000
B-319	Third	Studio	60	Sea View		91,000	5,460,000	109,200
B-320	Third	Studio	60	Sea View		91,000	5,460,000	109,200
				First Floor Buildi	ing C			
C-102	First	1 Bed	110	Sea View		85,000	9,350,000	187,000
C-103	First	Studio	78	Sea View		90,000	7,020,000	140,400
C-104	First	Studio	78	Sea View		91,000	7,098,000	141,960
C-105	First	Studio	78	Sea View		92,000	7,176,000	143,520
C-106	First	Studio	65	Sea View		93,000	6,045,000	120,900
C-107	First	Studio	65	Sea View		94,000	6,110,000	122,200
			S	econd Floor Buil	ding C			
C-202	Second	1 Bed	88	Sea View		86,000	7,568,000	151,360
C-203	Second	Studio	65	Sea View		91,000	5,915,000	118,300
C-204	Second	Studio	65	Sea View		92,000	5,980,000	119,600
C-205	Second	Studio	65	Sea View		93,000	6,045,000	120,900
C-206	Second	Studio	65	Sea View		94,000	6,110,000	122,200
		2 30.0.10			I	,000	-,==0,000	,

C-207	Second	Studio	65	Sea View		95,000	6,175,000	123,500	
Third Floor Building C									
C-302	Third	1 Bed	88	Sea View		87,000	7,656,000	153,120	
C-303	Third	Studio	65	Sea View		92,000	5,980,000	119,600	
C-304	Third	Studio	65	Sea View		93,000	6,045,000	120,900	
C-305	Third	Studio	65	Sea View		94,000	6,110,000	122,200	
C-306	Third	Studio	65	Sea View		95,000	6,175,000	123,500	
C-307	Third	Studio	65	Sea View		sold	sold	sold	